

# **Report of Voting**

# THE INSTITUTION OF ENGINEERING AND TECHNOLOGY (IET)

**IET ELECTIONS 2020** 

**CLOSE OF VOTING: 12:00 NOON ON 1 APRIL 2020** 

# **CONTEST: ELECTION TO THE BOARD OF TRUSTEES 2020 - Ordinary Member**

The election was conducted using the single transferable vote electoral system.

The following candidates were elected (in order of election):

ELECTED	
Kate SUGDEN	
Paul Michael NEEDHAM	

Number of eligible voters		114,470
Votes cast by post:	472	
Votes cast online:	9,827	
Total number of votes cast:		10,299
Turnout:		9.0%
Number of votes found to be invalid or blank:		204
Total number of valid votes to be counted:		10,095

# **CONTEST: ELECTION TO COUNCIL 2020 - Ordinary Member**

The election was conducted using the single transferable vote electoral system.

The following candidates were elected (in order of election):

ELECTED
Ian PHILLIPS
Orla MURPHY
Carol MARSH
Chun Yin Justina HO
Ian MACGILLIVRAY
Kerrine BRYAN

Number of eligible voters		165,613
Votes cast by post:	478	
Votes cast online:	11,116	
Total number of votes cast:		11,594
Turnout:		7.0%
Number of votes found to be invalid or blank:		691
Total number of valid votes to be counted:		10,903

## **CONFIDENTIAL**



# CONTEST: ELECTION TO THE COMMUNITIES RESOURCING COMMITTEE 2020 - Ordinary Member (under the age of 30)

The election was conducted using the single transferable vote electoral system.

The following candidate was elected:

ELECTED	
Samuel ELEGBEDE	

Number of eligible voters		165,613
Votes cast by post:	478	
Votes cast online:	11,116	
Total number of votes cast:		11,594
Turnout:		7.0%
Number of votes found to be invalid or blank:		1,022
Total number of valid votes to be counted:		10,572

The result sheets for each election form the Appendix to this report. They detail:-

- the quota required for election
- each candidate's voting figures, and
- the stage at which successful candidates were elected.

Civica Election Services can confirm that, as far as reasonably practicable, every person whose name appeared on the electoral roll supplied to us for the purpose of the ballot:-

- a) was sent the details of the ballot and
- b) if they chose to participate in the ballot, had their vote fairly and accurately recorded.

All voting material will be stored for twelve months.

CIVICA ELECTION SERVICES

# Election for ELECTION TO THE BOARD OF TRUSTEES 2020

Date 01/04/2020

Number to be elected 2
Valid votes 10095
Invalid votes 204
Quota 3365
eSTV Reg. 54096 2.0.16
Election rules ERS97

C+	า
Stage	
0.000	_

First Exclusion of

	FIISL	EXCIUSION OF		
Candidates	Preferences	JANANTHAN, R (Jana)+LIN	۸, Yew Ke	e
SUGDEN, Kate	3986		3986	Elected
WATTS, Alan	1993	384	2377	
JANANTHAN, R (Jana)	570	-570 -		
LIM, Yew Kee	484	-484 -		
NEEDHAM, Paul Michael	3062	364	3426	Elected
Non-transferable		306	306	
Totals	10095		10095	

ELECTION TO COUNCIL 2020 01/04/2020 Election for Date

6 10903 691 1557.58 2.0.16 Number to be elected Valid votes Invalid votes Quota eSTV Reg. 54096

e31 v neg. 340	2.0.10
F1	FROST

EN357																							
St	tage	2 :	Stage	3	Stage	4	Stage	5	Stage	6	Stage	7	Stage	8 9	Stage	9 Stage	10	Stage	11 :	Stage 1	2 Stage	13	
First Si	urplus of		Exclusion of		Exclusion of		Exclusion of		Exclusion of		Exclusion of		Surplus of		Exclusion of	Exclusion of		Exclusion of		Exclusion of	Exclusion of		
Preferences P	HILLIPS, Ian		TAN, Teng Hwang		AJITH CHARDRAN,	, Ashwin	VISHWAKARMA, S	uresh	O'BRIEN, Dean		LENIN FRED, A		MURPHY, Orla	9	SPYROU, Alkis	BARRATT, Ashle	у	WHITCHER, Tim	1	KADALI, Kalyan Sagar	CARTWRIGHT, Chi	ristopher	
1163	13.02	1176.02	17.35	1193.37	9	1202.37	17.35	1219.72	14.28	1234	11.07	1245.07	1.86	1246.93	53.63 1300.	56 59.7	1360.26	71.89	1432.15	65 1497.1	5	1497.15	Elected
334	3.01	337.01	3.14	340.15	4.07	344.22	10.07	354.29	8.07	362.36	3.21	365.57	0.31	365.88	-365.88 -		-						
280	2.03	282.03	8	290.03	20	310.03	56.28	366.31	5.07	371.38	54	425.38	0.31	425.69	25.14 450.	83 13.14	463.97	18.38	482.35	-482.35 -			
1150	8.89	1158.89	44	1202.89	9.07	1211.96	26.14	1238.1	17.14	1255.24	8.21	1263.45	1.55	1265	82.01 1347.	01 45.49	1392.5	46.49	1438.99	105 1543.9	)	1543.99	Elected
1685	-127.42	1557.58		1557.58		1557.58		1557.58		1557.58		1557.58		1557.58	1557.	58	1557.58		1557.58	1557.5	3	1557.58	Elected
1315	32.2	1347.2	15.56	1362.76	14.21	1376.97	22.07	1399.04	46.47	1445.51	5.14	1450.65	2.17	1452.82	58 1510.	82	1510.82		1510.82	1510.8	2	1510.82	Elected
170	2.17	172.17	-172.17 -									-					-					-	
216	2.94	218.94	15.14	234.08	28	262.08	-262.08 -					-					-						
720	9.24	729.24	20.14	749.38	12.07	761.45	29.91	791.36	22.56	813.92	6.14	820.06	2.48	822.54	24.07 846.	61 38.87	885.48	81.91	967.39	75.91 1043.	213	1256.3	Elected
257	7.98	264.98	4.07	269.05	13	282.05	10.42	292.47	-292.47			-					-						
296	6.58	302.58	5.14	307.72	9	316.72	13.07	329.79	40.68	370.47	5.07	375.54	1.86	377.4	16.35 393.	75 53.35	447.1	-447.1 -					
566	6.86	572.86	8.21	581.07	11.14	592.21	20.28	612.49	31.54	644.03	13.21	657.24	3.1	660.34	32.63 692.	97 50.08	743.05	84.33	827.38	44.49 871.8	7 220	1091.87	
212	1.12	213.12	3.07	216.19	-216.19 -							-					-						
462	4.48	466.48	7	473.48	17.07	490.55	8.07	498.62	14.91	513.53	10.07	523.6	1.55	525.15	23.14 548.	29 86.43	634.72	82.21	716.93	38.87 755.	-743	12.8	
301	1.05	302.05	2.21	304.26	5	309.26	11.28	320.54	4.21	324.75	-324.75	-					-						
1452	10.15	1462.15	6.14	1468.29	40.42	1508.71	. 7	1515.71	60	1575.71		1575.71	-18.13	1557.58	1557.	58	1557.58		1557.58	1557.5	3	1557.58	Elected
324	2.87	326.87	4	330.87	9.14	340.01	8.07	348.08	13.77	361.85	9.35	371.2	2.48	373.68	11.77 385.	45 -385.45	-					-	
	12.83	12.83	9	21.83	15	36.83	22.07	58.9	13.77	72.67	199.28	271.95	0.46	272.41	39.14 311.	55 38.39	349.94	61.89	411.83	153.08 564.9	310	874.91	
10903		10903		10903		10903		10903		10903		10903		10903	109	03	10903		10903	1090	3	10903	
	First S Preferences F Preferences F 280 1150 1685 1315 170 216 720 257 296 566 212 462 3011 1452 324	First Surplus of Preferences PHILLIPS, Ian 1163 13.02 2.03 1150 8.89 1685 -127.42 1315 32.2 170 2.17 216 2.94 720 9.24 725 7.798 296 6.58 566 6.86 212 1.12 462 4.48 301 1.05 1452 10.15 324 2.87	Stage   2   2   2   2   2   2   2   2   2	Stage	Stage   2 Stage   3	Stage	Stage	Stage   Company   Stage   C	Stage   2 Stage   2 Stage   3 Stage   5 Sta	Stage	Stage	Preference   Pr	Preference   Stage   1 Stage   2 Stage   3 Stage   4 Stage   5 Stage   5 Stage   6 Stage   7 Perference   Preference   Preference	Stage   Stag	Stage   1   Stage   2   Stage   3   Stage   4   Stage   5   Stage   5   Stage   6   Stage   7   Stage   7   Stage   8   Stage   7   Stag	Stage   Stag	Stage   Stag	Stage   Stag	Stage   Stag	First   Supplied   Stage   12   Stage   13   Stage   14   Stage   15   Stage   16   Stage   16   Stage   16   Stage   16   Stage   16   Stage   16   Stage   17   Stage   18   Stage   18   Stage   19   Stage   19	Stage   Stag	Stage   Stag	First   Stage   First   Stag

## **ELECTION TO COUNCIL 2020**

Stage 1

Quota = 1557.58

#### PHILLIPS, Ian ELECTED

With 1685.00 over quota 1557.58

#### Stage 2

No candidates can be excluded, so we transfer the largest surplus

Surplus of PHILLIPS, Ian

48 papers non transferable.

1637.00 transferred

This is more than the surplus of 127.42

So ballot papers given a new value of 0.07

Transfer from PHILLIPS, Ian: 1637 at 0.07 = 114.59

Transfer to MACGILLIVRAY, Ian: 186 at 0.07 = 13.02

Transfer to SPYROU, Alkis: 43 at 0.07 = 3.01

Transfer to KADALI, Kalyan Sagar: 29 at 0.07 = 2.03

Transfer to HO, Chun Yin Justina: 127 at 0.07 = 8.89

Transfer to MARSH, Carol: 460 at 0.07 = 32.20

Transfer to TAN, Teng Hwang: 31 at 0.07 = 2.17

Transfer to VISHWAKARMA, Suresh: 42 at 0.07 = 2.94

Transfer to BRYAN, Kerrine: 132 at 0.07 = 9.24

Transfer to O'BRIEN, Dean: 114 at 0.07 = 7.98

Transfer to WHITCHER, Tim: 94 at 0.07 = 6.58

Transfer to STOJKOVSKA, Biljana: 98 at 0.07 = 6.86

Transfer to AJITH CHARDRAN, Ashwin: 16 at 0.07 = 1.12

Transfer to CARTWRIGHT, Christopher: 64 at 0.07 = 4.48

Transfer to LENIN FRED, A: 15 at 0.07 = 1.05 Transfer to MURPHY, Orla: 145 at 0.07 = 10.15

Transfer to BARRATT, Ashley: 41 at 0.07 = 2.87

Vote required for election now: 1555.44

#### Stage 3

# Excluding TAN, Teng Hwang

Transferring papers worth 1.00

Transfer from TAN, Teng Hwang: 170 at 1.00 = 170.00

Transfer to MACGILLIVRAY, Ian: 17 at 1.00 = 17.00

Transfer to SPYROU, Alkis: 3 at 1.00 = 3.00

Transfer to KADALI, Kalyan Sagar: 8 at 1.00 = 8.00

Transfer to HO, Chun Yin Justina: 44 at 1.00 = 44.00

Transfer to MARSH, Carol: 15 at 1.00 = 15.00

Transfer to VISHWAKARMA, Suresh: 15 at 1.00 = 15.00

Transfer to BRYAN, Kerrine: 20 at 1.00 = 20.00

Transfer to O'BRIEN, Dean: 4 at 1.00 = 4.00

Transfer to WHITCHER, Tim: 5 at 1.00 = 5.00

Transfer to STOJKOVSKA, Biljana: 8 at 1.00 = 8.00

Transfer to AJITH CHARDRAN, Ashwin: 3 at 1.00 = 3.00

Transfer to CARTWRIGHT, Christopher: 7 at 1.00 = 7.00

Transfer to LENIN FRED, A: 2 at 1.00 = 2.00

Transfer to MURPHY, Orla: 6 at 1.00 = 6.00

Transfer to BARRATT, Ashley: 4 at 1.00 = 4.00

Transfer to Non-transferable: 9 at 1.00 = 9.00

Transferring papers worth 0.07

Transfer from TAN, Teng Hwang: 31 at 0.07 = 2.17

Transfer to MACGILLIVRAY, Ian: 5 at 0.07 = 0.35

Transfer to SPYROU, Alkis: 2 at 0.07 = 0.14 Transfer to MARSH, Carol: 8 at 0.07 = 0.56

Transfer to VISHWAKARMA, Suresh: 2 at 0.07 = 0.14

Transfer to BRYAN, Kerrine: 2 at 0.07 = 0.14

Transfer to O'BRIEN, Dean: 1 at 0.07 = 0.07 Transfer to WHITCHER, Tim: 2 at 0.07 = 0.14

Transfer to STOJKOVSKA, Biljana: 3 at 0.07 = 0.21

Transfer to AJITH CHARDRAN, Ashwin: 1 at 0.07 = 0.07

Transfer to LENIN FRED, A: 3 at 0.07 = 0.21

Transfer to MURPHY, Orla: 2 at 0.07 = 0.14

#### Stage 4

### **Excluding AJITH CHARDRAN, Ashwin**

Transferring papers worth 1.00

Transfer from AJITH CHARDRAN, Ashwin: 215 at 1.00 = 215.00

Transfer to MACGILLIVRAY, Ian: 9 at 1.00 = 9.00

Transfer to SPYROU, Alkis: 4 at 1.00 = 4.00

Transfer to KADALI, Kalyan Sagar: 20 at 1.00 = 20.00

Transfer to HO, Chun Yin Justina: 9 at 1.00 = 9.00

Transfer to MARSH, Carol: 14 at 1.00 = 14.00

Transfer to VISHWAKARMA, Suresh: 28 at 1.00 = 28.00

Transfer to BRYAN, Kerrine: 12 at 1.00 = 12.00

Transfer to O'BRIEN, Dean: 13 at 1.00 = 13.00

Transfer to WHITCHER, Tim: 9 at 1.00 = 9.00

Transfer to STOJKOVSKA, Biljana: 11 at 1.00 = 11.00

Transfer to CARTWRIGHT, Christopher: 17 at 1.00 = 17.00

Transfer to LENIN FRED, A: 5 at 1.00 = 5.00

Transfer to MURPHY, Orla: 40 at 1.00 = 40.00

Transfer to BARRATT, Ashley: 9 at 1.00 = 9.00

Transfer to Non-transferable: 15 at 1.00 = 15.00

Transferring papers worth 0.07

Transfer from AJITH CHARDRAN, Ashwin: 17 at 0.07 = 1.19

Transfer to SPYROU, Alkis: 1 at 0.07 = 0.07

Transfer to HO, Chun Yin Justina: 1 at 0.07 = 0.07

Transfer to MARSH, Carol: 3 at 0.07 = 0.21

Transfer to BRYAN, Kerrine: 1 at 0.07 = 0.07

Transfer to STOJKOVSKA, Biljana: 2 at 0.07 = 0.14

Transfer to CARTWRIGHT, Christopher: 1 at 0.07 = 0.07

Transfer to MURPHY, Orla: 6 at 0.07 = 0.42

Transfer to BARRATT, Ashley: 2 at 0.07 = 0.14

#### Stage 5

# Excluding VISHWAKARMA, Suresh

Transferring papers worth 1.00

Transfer from VISHWAKARMA, Suresh: 259 at 1.00 = 259.00

Transfer to MACGILLIVRAY, Ian: 17 at 1.00 = 17.00

Transfer to SPYROU, Alkis: 10 at 1.00 = 10.00

Transfer to KADALI, Kalyan Sagar: 56 at 1.00 = 56.00

Transfer to HO, Chun Yin Justina: 26 at 1.00 = 26.00

Transfer to MARSH, Carol: 22 at 1.00 = 22.00

Transfer to BRYAN, Kerrine: 29 at 1.00 = 29.00

Transfer to O'BRIEN, Dean: 10 at 1.00 = 10.00

Transfer to WHITCHER, Tim: 13 at 1.00 = 13.00 Transfer to STOJKOVSKA, Biljana: 20 at 1.00 = 20.00

Transfer to CARTWRIGHT, Christopher: 8 at 1.00 = 8.00

Transfer to LENIN FRED, A: 11 at 1.00 = 11.00

Transfer to MURPHY, Orla: 7 at 1.00 = 7.00

Transfer to BARRATT, Ashley: 8 at 1.00 = 8.00

Transfer to Non-transferable: 22 at 1.00 = 22.00

Transferring papers worth 0.07

Transfer from VISHWAKARMA, Suresh: 44 at 0.07 = 3.08

Transfer to MACGILLIVRAY, Ian: 5 at 0.07 = 0.35

Transfer to SPYROU. Alkis: 1 at 0.07 = 0.07

Transfer to KADALI, Kalyan Sagar: 4 at 0.07 = 0.28

Transfer to HO. Chun Yin Justina: 2 at 0.07 = 0.14

Transfer to MARSH, Carol: 1 at 0.07 = 0.07

Transfer to BRYAN, Kerrine: 13 at 0.07 = 0.91

Transfer to O'BRIEN, Dean: 6 at 0.07 = 0.42

Transfer to WHITCHER, Tim: 1 at 0.07 = 0.07

Transfer to STOJKOVSKA, Biljana: 4 at 0.07 = 0.28

Transfer to CARTWRIGHT, Christopher: 1 at 0.07 = 0.07

Transfer to LENIN FRED, A: 4 at 0.07 = 0.28

Transfer to BARRATT, Ashley: 1 at 0.07 = 0.07

Transfer to Non-transferable: 1 at 0.07 = 0.07

### Stage 6

## **Excluding O'BRIEN, Dean**

Transferring papers worth 1.00

Transfer from O'BRIEN, Dean: 284 at 1.00 = 284.00

Transfer to MACGILLIVRAY, Ian: 14 at 1.00 = 14.00

Transfer to SPYROU, Alkis: 8 at 1.00 = 8.00

Transfer to KADALI, Kalyan Sagar: 5 at 1.00 = 5.00

Transfer to HO, Chun Yin Justina: 17 at 1.00 = 17.00

Transfer to MARSH, Carol: 45 at 1.00 = 45.00

Transfer to BRYAN, Kerrine: 22 at 1.00 = 22.00

Transfer to WHITCHER, Tim: 39 at 1.00 = 39.00

Transfer to STOJKOVSKA, Biljana: 30 at 1.00 = 30.00

Transfer to CARTWRIGHT, Christopher: 14 at 1.00 = 14.00

Transfer to LENIN FRED, A: 4 at 1.00 = 4.00

Transfer to MURPHY, Orla: 60 at 1.00 = 60.00

Transfer to BARRATT, Ashley: 13 at 1.00 = 13.00

Transfer to Non-transferable: 13 at 1.00 = 13.00

#### **MURPHY. Orla ELECTED**

With 1575.71 over quota 1557.58

Transferring papers worth 0.07

Transfer from O'BRIEN, Dean: 121 at 0.07 = 8.47

Transfer to MACGILLIVRAY, Ian: 4 at 0.07 = 0.28

Transfer to SPYROU, Alkis: 1 at 0.07 = 0.07

Transfer to KADALI, Kalyan Sagar: 1 at 0.07 = 0.07

Transfer to HO. Chun Yin Justina: 2 at 0.07 = 0.14

Transfer to MARSH, Carol: 21 at 0.07 = 1.47

Transfer to BRYAN, Kerrine: 8 at 0.07 = 0.56

Transfer to WHITCHER, Tim: 24 at 0.07 = 1.68

Transfer to STOJKOVSKA, Biljana: 22 at 0.07 = 1.54 Transfer to CARTWRIGHT, Christopher: 13 at 0.07 = 0.91

Transfer to CARTWRIGHT, Unristopher: 13 at 0.07

Transfer to LENIN FRED, A: 3 at 0.07 = 0.21

Transfer to BARRATT, Ashley: 11 at 0.07 = 0.77

Transfer to Non-transferable: 11 at 0.07 = 0.77

#### Stage 7

## Excluding LENIN FRED, A

Transferring papers worth 1.00

Transfer from LENIN FRED, A: 323 at 1.00 = 323.00

Transfer to MACGILLIVRAY, Ian: 11 at 1.00 = 11.00

Transfer to SPYROU, Alkis: 3 at 1.00 = 3.00

Transfer to KADALI, Kalyan Sagar: 54 at 1.00 = 54.00

Transfer to HO, Chun Yin Justina: 8 at 1.00 = 8.00

Transfer to MARSH, Carol: 5 at 1.00 = 5.00

Transfer to BRYAN, Kerrine: 6 at 1.00 = 6.00

Transfer to WHITCHER, Tim: 5 at 1.00 = 5.00

Transfer to STOJKOVSKA, Biljana: 13 at 1.00 = 13.00

Transfer to CARTWRIGHT, Christopher: 10 at 1.00 = 10.00

Transfer to BARRATT, Ashley: 9 at 1.00 = 9.00

Transfer to Non-transferable: 199 at 1.00 = 199.00

Transferring papers worth 0.07

Transfer from LENIN FRED, A: 25 at 0.07 = 1.75

Transfer to MACGILLIVRAY, Ian: 1 at 0.07 = 0.07

Transfer to SPYROU, Alkis: 3 at 0.07 = 0.21

Transfer to HO, Chun Yin Justina: 3 at 0.07 = 0.21 Transfer to MARSH, Carol: 2 at 0.07 = 0.14

Transfer to BRYAN, Kerrine: 2 at 0.07 = 0.14

Transfer to WHITCHER, Tim: 1 at 0.07 = 0.07

Transfer to STOJKOVSKA. Biliana: 3 at 0.07 = 0.21

Transfer to CARTWRIGHT, Christopher: 1 at 0.07 = 0.07

Transfer to BARRATT, Ashley: 5 at 0.07 = 0.35

Transfer to Non-transferable: 4 at 0.07 = 0.28

#### Stage 8

No candidates can be excluded, so we transfer the largest surplus

Surplus of MURPHY, Orla

3 papers non transferable.

57.00 transferred

This is more than the surplus of 18.13

So ballot papers given a new value of 0.31

Transfer from MURPHY, Orla: 57 at 0.31 = 17.67

Transfer to MACGILLIVRAY, Ian: 6 at 0.31 = 1.86 Transfer to SPYROU. Alkis: 1 at 0.31 = 0.31

Transfer to KADALI, Kalyan Sagar: 1 at 0.31 = 0.31

Transfer to HO, Chun Yin Justina: 5 at 0.31 = 1.55

Transfer to MARSH, Carol: 7 at 0.31 = 2.17

Transfer to BRYAN, Kerrine: 8 at 0.31 = 2.48 Transfer to WHITCHER, Tim: 6 at 0.31 = 1.86 Transfer to STOJKOVSKA, Biljana: 10 at 0.31 = 3.10 Transfer to CARTWRIGHT, Christopher: 5 at 0.31 = 1.55 Transfer to BARRATT, Ashley: 8 at 0.31 = 2.48 Vote required for election now: 1503.09

#### Stage 9

## **Excluding SPYROU, Alkis**

Transferring papers worth 1.00 Transfer from SPYROU, Alkis: 362 at 1.00 = 362.00 Transfer to MACGILLIVRAY, Ian: 53 at 1.00 = 53.00 Transfer to KADALI, Kalyan Sagar: 25 at 1.00 = 25.00 Transfer to HO, Chun Yin Justina: 81 at 1.00 = 81.00 Transfer to MARSH, Carol: 58 at 1.00 = 58.00 Transfer to BRYAN, Kerrine: 24 at 1.00 = 24.00

Transfer to WHITCHER, Tim: 16 at 1.00 = 16.00 Transfer to STOJKOVSKA, Biljana: 32 at 1.00 = 32.00 Transfer to CARTWRIGHT, Christopher: 23 at 1.00 = 23.00

Transfer to BARRATT, Ashley: 11 at 1.00 = 11.00 Transfer to Non-transferable: 39 at 1.00 = 39.00

#### MARSH, Carol ELECTED

With 1510.82

Transferring papers worth 0.31 Transfer from SPYROU, Alkis: 1 at 0.31 = 0.31 Transfer to HO, Chun Yin Justina: 1 at 0.31 = 0.31 Transferring papers worth 0.07 Transfer from SPYROU, Alkis: 51 at 0.07 = 3.57 Transfer to MACGILLIVRAY, Ian: 9 at 0.07 = 0.63 Transfer to KADALI, Kalyan Sagar: 2 at 0.07 = 0.14 Transfer to HO, Chun Yin Justina: 10 at 0.07 = 0.70 Transfer to BRYAN, Kerrine: 1 at 0.07 = 0.07 Transfer to WHITCHER, Tim: 5 at 0.07 = 0.35 Transfer to STOJKOVSKA, Biljana: 9 at 0.07 = 0.63 Transfer to CARTWRIGHT, Christopher: 2 at 0.07 = 0.14 Transfer to BARRATT, Ashley: 11 at 0.07 = 0.77 Transfer to Non-transferable: 2 at 0.07 = 0.14

## Stage 10

## **Excluding BARRATT, Ashley**

Transferring papers worth 1.00

Transfer from BARRATT, Ashley: 378 at 1.00 = 378.00 Transfer to MACGILLIVRAY, Ian: 59 at 1.00 = 59.00 Transfer to KADALI, Kalyan Sagar: 13 at 1.00 = 13.00 Transfer to HO, Chun Yin Justina: 45 at 1.00 = 45.00 Transfer to BRYAN, Kerrine: 38 at 1.00 = 38.00 Transfer to WHITCHER, Tim: 52 at 1.00 = 52.00 Transfer to STOJKOVSKA, Biljana: 49 at 1.00 = 49.00 Transfer to CARTWRIGHT, Christopher: 85 at 1.00 = 85.00

Transfer to Non-transferable: 37 at 1.00 = 37.00

Transferring papers worth 0.31

Transfer from BARRATT, Ashley: 8 at 0.31 = 2.48 Transfer to BRYAN, Kerrine: 1 at 0.31 = 0.31

Transfer to WHITCHER. Tim: 3 at 0.31 = 0.93

Transfer to STOJKOVSKA, Biljana: 1 at 0.31 = 0.31

Transfer to CARTWRIGHT, Christopher: 1 at 0.31 = 0.31

Transfer to Non-transferable: 2 at 0.31 = 0.62

Transferring papers worth 0.07

Transfer from BARRATT, Ashley: 71 at 0.07 = 4.97 Transfer to MACGILLIVRAY, Ian: 10 at 0.07 = 0.70

Transfer to KADALI, Kalyan Sagar: 2 at 0.07 = 0.14

Transfer to HO, Chun Yin Justina: 7 at 0.07 = 0.49

Transfer to BRYAN, Kerrine: 8 at 0.07 = 0.56 Transfer to WHITCHER. Tim: 6 at 0.07 = 0.42

Transfer to STOJKOVSKA, Biljana: 11 at 0.07 = 0.77

Transfer to CARTWRIGHT, Christopher: 16 at 0.07 = 1.12

Transfer to Non-transferable: 11 at 0.07 = 0.77

#### Stage 11

## **Excluding WHITCHER, Tim**

Transferring papers worth 1.00

Transfer from WHITCHER, Tim: 435 at 1.00 = 435.00

Transfer to MACGILLIVRAY, Ian: 70 at 1.00 = 70.00

Transfer to KADALI, Kalyan Sagar: 18 at 1.00 = 18.00

Transfer to HO, Chun Yin Justina: 46 at 1.00 = 46.00

Transfer to BRYAN, Kerrine: 81 at 1.00 = 81.00

Transfer to STOJKOVSKA, Biljana: 82 at 1.00 = 82.00

Transfer to CARTWRIGHT, Christopher: 79 at 1.00 = 79.00

Transfer to Non-transferable: 59 at 1.00 = 59.00

Transferring papers worth 0.31

Transfer from WHITCHER, Tim: 9 at 0.31 = 2.79

Transfer to KADALI, Kalyan Sagar: 1 at 0.31 = 0.31

Transfer to STOJKOVSKA, Biljana: 3 at 0.31 = 0.93

Transfer to CARTWRIGHT, Christopher: 2 at 0.31 = 0.62

Transfer to Non-transferable: 3 at 0.31 = 0.93

Transferring papers worth 0.07

Transfer from WHITCHER, Tim: 133 at 0.07 = 9.31

Transfer to MACGILLIVRAY, Ian: 27 at 0.07 = 1.89

Transfer to KADALI, Kalyan Sagar: 1 at 0.07 = 0.07

Transfer to HO, Chun Yin Justina: 7 at 0.07 = 0.49

Transfer to BRYAN. Kerrine: 13 at 0.07 = 0.91

Transfer to STOJKOVSKA, Biljana: 20 at 0.07 = 1.40

Transfer to CARTWRIGHT, Christopher: 37 at 0.07 = 2.59

Transfer to Non-transferable: 28 at 0.07 = 1.96

#### Stage 12

## **Excluding KADALI, Kalyan Sagar**

Transferring papers worth 1.00

Transfer from KADALI, Kalyan Sagar: 479 at 1.00 = 479.00

Transfer to MACGILLIVRAY, Ian: 65 at 1.00 = 65.00

Transfer to HO, Chun Yin Justina: 105 at 1.00 = 105.00

Transfer to BRYAN, Kerrine: 75 at 1.00 = 75.00

Transfer to STOJKOVSKA, Biljana: 44 at 1.00 = 44.00

Transfer to CARTWRIGHT, Christopher: 38 at 1.00 = 38.00

Transfer to Non-transferable: 152 at 1.00 = 152.00

## HO, Chun Yin Justina ELECTED

With 1543.99

## MACGILLIVRAY, Ian ELECTED

With 1497.15

Transferring papers worth 0.31

Transfer from KADALI, Kalyan Sagar: 2 at 0.31 = 0.62

Transfer to CARTWRIGHT, Christopher: 1 at 0.31 = 0.31

Transfer to Non-transferable: 1 at 0.31 = 0.31

Transferring papers worth 0.07

Transfer from KADALI, Kalyan Sagar: 39 at 0.07 = 2.73

Transfer to BRYAN, Kerrine: 13 at 0.07 = 0.91

Transfer to STOJKOVSKA, Biljana: 7 at 0.07 = 0.49

Transfer to CARTWRIGHT, Christopher: 8 at 0.07 = 0.56

Transfer to Non-transferable: 11 at 0.07 = 0.77

#### Stage 13

# **Excluding CARTWRIGHT, Christopher**

Transferring papers worth 1.00

Transfer from CARTWRIGHT, Christopher: 743 at 1.00 = 743.00

Transfer to BRYAN, Kerrine: 213 at 1.00 = 213.00 Transfer to STOJKOVSKA, Biljana: 220 at 1.00 = 220.00 Transfer to Non-transferable: 310 at 1.00 = 310.00

#### **BRYAN, Kerrine ELECTED**

With 1256.30

\*\*\*Finished\*\*\*

Election for	ELECTION TO THE COMMUNITIES RESOURCING COMMITTEE									
Date	01/04/2020									
Number to be elected	1									
Valid votes	10572									
Invalid votes	1022									
Quota	4588.5									
eSTV Reg. 54096	2.0.16									
Election rules	ERS97									
		Stage	2							
	First	Exclusion of								
Candidates	Preferences	LING, Ting Rang (Peter)+	DURAI, C Gigin							
LING, Ting Rang (Peter)	154	5 -1545 -								
DURAI, C Gigin	147	3 -1473 -								
ELEGBEDE, Samuel	404	2 929	4971	Elected						
CHAPMAN, Jack	351	2 694	4206							

Non-transferable

Totals